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1. (c) T O R Q

20 + 15 + 18+ 17=70×3=210

H A R N

8 + 1 + 18 + 14 = 41×3 = 123

Similarly,

P A D M

16 + 1 + 4 + 13 = 34 × 3 =102 

2. (d)

3. (d)

M

P

N Q

M is the brother of 'Q'
4. (b)

5. (a) W U T

R

M

H

C

P

K

F

A

O

J

E

Z

–5

–5

–5

–5

–5

–5

–5

–5

–5

–5

–5

–5

6. (a)
Trees Wood

Branches

7. (a) 35 – 28 ÷ 7 + 322 × 23
After interchanging the sign
= 35 + 28 × 7 – 322 ÷ 23
= 35 + 28 × 7 – 14
= 35 + 196 – 14
= 231 – 14 = 217

8. (b)
9. (d)D B P M / D B P M / D B P M /

DBPM
10. (c) 157, 167 and 137 are prime

number

11. (b) D  R   I V  E  R

J  S  E T  G  X

+1 +2

,

D  U  R I  N  G

S  V  E I  P  K

+1 +2

,
Similarly,
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D  O  L L  A  R

M  P  E T  C  N

+1 +2

,
12. (c) (12, 144, 1728)

 (12)2 = 144
 (12)3 = 1728

(6, 36, 216)
 (6)2 = 36
 (6)3 = 216
Similarly,

(10, 100, 1000)
 (10)2 = 100
 (10)3 = 100

13. (c) 11 : 81
 (11 – 2)2 = 92 = 81

22 : 400
 (22 – 2)2 = (20)2 = 400
Similarly,

x : 225
= (17 – 2)2 = (15)2 = 225

14. (d) 15. (c)
16. (a) 17. (d)
18. (b)5 – 9 + 16 × 91 ÷ 13 = – 98

After interchaging the sign,
 5 + 9 – 16 × 91 ÷ 13 = –98
 14 – 16 × 7 = – 98
 14 – 112 = – 98
 –98 = – 98 (L.H.S = R.H.S)

19. (c) L  A M  P

R  Q  G  T
(+2) (+4) (+6) (+8)

, G A M E

G Q  G  O
(+2) (+4) (+6) (+8)

Similarly,

G  O A T

V  E  U  O
(+2) (+4) (+6) (+8)

20. (a) P Q
Sister HusbandDaughter

R
–

– +

‘S’ is the mother of P.

21. (b)
Sand wiches

Burger
Pizza

Pastas

22. (d)

,

C DA OT G

H IX LV I

+5 +5–3 –3+2 +2

,

X GY OZ D

C LV FB L

+5 +5–3 –9+2 +8 (odd)

23. (a) 39 × 6 + 27 ÷ 3 – 52 = 123
After interchanging

 27 × 6 + 39 ÷ 3 – 52 = 123

 27 × 6 + 13 – 52 = 123
 162 + 13 – 52 = 123
 175 – 52 = 123
 123 = 123 (L.H.S = R.H.S)

24. (d) 6, 36, 41, , 167, 334 164

×6 +5 ×4 +3 ×2

25. (a) (8, 63, 81)
 (8)2–1 = 64–1=63 (Middle term)
 (8 + 1)2 = (9)2 = 81 (Last term)

(11, 120, 144)
 112–1 = 121–1 = 120 (Middle term)
 (11+1)2=(12)2=144 (Last term)
Similarly,

(9, 80, 100)
 92–1=81– 1= 80 (Middle term)
 (9+1)2 = (10)2=100 (Last term)

 termLanka. B-GENERAL AWARENESS
26. (c) The centre of gravity is the

96099point at which the
entire weight of a body is
considered to act. It helps
in analysing balance and
stability of objects./
xq#Rokd"kZ.k dsaæ og fcanq gksrk gS
ftl ij fdlh oLrq dk laiw.kZ Hkkj
dk;Z djrk gSA ;g oLrqvksa ds larqyu
vkSj fLFkjrk dk fo'ys"k.k djus esa
lgk;d gksrk gSA

27. (d) Other options are stating
normative statements
(based on opinions or value
added judgements); option
D - “An increase in money
supply implies a price rise
in an economy”  is a
factual, testable claim and
hence belongs to positive
economics./vU; fodYi ekud
oDrO; (er ;k ewY; vk/kfjr dFku)
gSa_ tcfd fodYi D - “iSls dh
vkiwfrZ esa òf¼ dk vFkZ gS vFkZO;oLFkk
esa ewY;o`f¼¸ ,d rF;kRed vkSj
ijh{k.k ;ksX; dFku gS] blfy, ;g
ldkjkRed vFkZ'kkL=k esa vkrk gSA

28. (b) Part III of the Constitution
contains Fundamental
Rights, which are
justiciable, meaning they
are legally enforceable by
courts. Fundamental
Duties, however, are non-
justiciable, so they were
added to Part IV-A, not Part
III.
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lafo/ku dk Hkkx III ekSfyd vf/
dkjksa ls lacaf/r gS] tks U;kf;d gksrs
gSa] ;kuh bUgsa vnkyrksa esa ykxw fd;k
tk ldrk gSA ekSfyd drZO; xSj&U;kf;d
gksrs gSa vkSj bUgsa Hkkx IV-A esa tksM+k
x;k Fkk] u fd Hkkx III esaA

29. (c) The Savannah ecosystem,
found mainly in Africa, is
home to large herbivores
and carnivores like lions,
elephants, giraffes, and
zebras. That’s why it is
famously called the “Land of

Big Games.”/lokuk ikfjfLFkfrd
ra=k eq[;r% vÚhdk esa ik;k tkrk gS]
tgk¡ 'ksj] gkFkh] ftjkiQ vkSj tsczk tSls
cM+s 'kkdkgkjh vkSj ekalkgkjh tkuoj
jgrs gSaA blfy, bls ¶fcx xsEl dh
Hkwfe¸ dgk tkrk gSA

30. (d) Plaster of Paris is chemically
calcium sulfate hemihy-
drate (2CaSO

4
·H

2
O) , formed

by heating gypsum (calcium
sulfate dihydrate). It
hardens when mixed with

water./IykLVj vkWiQ isfjl jklk;fud
:i ls dSfY'k;e lYiQsV gsehgkbMªsV
(2CaSO

4
·H

2
O) gksrk gS] tks ftIle

(dSfY'k;e lYiQsV MkbgkbMªsV) dks xeZ
djus ij curk gSA ;g ikuh feykus ij
dBksj gks tkrk gSA

31. (c) Kupffer cells are specialized
macrophages located in the
liver that help in breaking
down red blood cells and

fighting infections./dqIiQj
dksf'kdk,¡ ;Ñr (fyoj) esa ikbZ tkus
okyh fo'ks"k çdkj dh eSØksiQst gksrh gSa]
tks yky jDr dksf'kdkvksa dks rksM+us vkSj
laØe.k ls yM+us esa lgk;rk djrh gSaA

32. (d) In Jain philosophy, ‘Jina’
means ‘the conqueror’ one
who has conquered inner
passions like anger, greed,

and desire./tSu n'kZu es a ̂ ftu*
dk vFkZ gS ̂ fotsrk* ;kuh og ftlus
Øk s/] yksHk vkSj bPNkvks a tSlh
vkarfjd ço`fÙk;ks a ij fot; çkIr
dj yh gksA

33. (d) Arya Samaj, founded by
Swami Dayananda
Saraswati, promoted a
return to the teachings of
the Vedas, rejecting later
additions and superst-

itions. Their slogan was

“Back to Vedas.”/vk;Z lekt
dh LFkkiuk Lokeh n;kuan ljLorh
us dh Fkh] tks osnksa dh f'k{kk ij
ykSVus dh ckr djrk gS vkSj ckn
dh ekU;rkvksa o va/fo'oklksa dks
vLohdkj djrk gSA budk ukjk Fkk
¶osnksa dh vksj ykSVks¸A

34. (b) Pench Tiger Reserve is
located in Madhya
Pradesh and Maharash-
tra, not in Karnataka. The
others Bhadra, Dandeli-
Anshi, and Nagarhole are

all in Karnataka./isap Vkbxj
fjtoZ eè; çns'k vkSj egkjk"Vª esa
fLFkr gS] u fd dukZVd esaA vU;
lHkh Hkæ] MkaMhyh&va'kh vkSj uxjgksys
dukZVd esa fLFkr gSaA

35. (d) Gwalior Gharana is
considered the oldest and
one of the most influential
schools of Khayal singing
in Hindustani classical
music. Tansen belonged

to this Gharana./Xokfy;j
?kjkuk •;ky xk;u dh lcls çkphu
vkSj çHkko'kkyh 'kSfy;ksa esa ls ,d
ekuk tkrk gSA rkulsu blh ?kjkus ls
lacaf/r FksA

36. (c) A light year is the distance
that light travels in one
year, used to measure
very large distances in
space. The others are
units of force (Newton),
power (Watt), and energy

(Joule)./,d çdk'k o"kZ og nwjh
gS tks çdk'k ,d o"kZ esa r; djrk
gS vkSj ;g varfj{k dh fo'kky nwfj;ksa
dks ekius ds fy, ç;qDr gksrk gSA
vU; fodYi U;wVu (cy)] okWV
('kfDr)] twy (ÅtkZ) HkkSfrd
ek=kdksa ds uke gSaA

37. (c) The Golgi apparatus
modifies sorts, and
packages proteins and
lipids for delivery within
the cell or for secretion
inside & outside the cell./

xkWYxh midj.k çksVhu vkSj olk dks
la'kksfèkr djrk gS] Nk¡Vrk gS vkSj
mUgsa dksf'kdk ds Hkhrj ;k ckgj
Hkstus ds fy, iSd djrk gSA

38. (d) The Modhera Dance
Festival is held annually at
the Sun Temple in
Modhera, located in the
Mehsana district of
Gujarat. This three-day
festival, also known as
Uttarardh Mahotsav,
celebrates Indian classical
dance forms against the
backdrop of the 11th-
century Sun Temple. It
typically takes place during
the third weekend of
January, following the
conclusion of the

Uttarayan festival./eks<sjk ùR;
egksRlo xqtjkr ds esglk.kk ftys esa
fLFkr eks<sjk ds lw;Z eafnj esa çfro"kZ
vk;ksftr fd;k tkrk gSA rhu fnolh;
bl egksRlo dks mÙkjk¼Z egksRlo ds
uke ls Hkh tkuk tkrk gS] ftlesa
11oha 'krkCnh ds lw;Z eafnj dh ì"BHkwfe
esa Hkkjrh; 'kkL=kh; u`R; 'kSfy;ksa dk
çn'kZu fd;k tkrk gSA ;g vkerkSj
ij mÙkjk;.k mRlo ds lekiu ds
ckn tuojh ds rhljs lIrkgkar esa
vk;ksftr fd;k tkrk gS

39. (b) USSR was the first country
to include Fundamental
Duties in its constitution in
1936, before India
introduced them in 1976
through the 42nd

Amendment./lk s fo;r la? k
(USSR) igyk ns'k Fkk ftlus 1936
esa vius lafo/ku esa ekSfyd drZO;ksa dks
'kkfey fd;kA Hkkjr esa bUgsa 1976 esa
42osa la'kks/u }kjk 'kkfey fd;k x;kA

40. (c) Sarojini Naidu became the
first Indian woman to
preside over the Indian
National Congress at its
session held in Delhi in

1925./ljksftuh uk;Mw 1925 esa
fnYyh vf/os'ku esa Hkkjrh; jk"Vªh;
dkaxzsl dh vè;{k cuus okyh igyh
Hkkjrh; efgyk cuhaA

41. (d) In recurring deposits, a
fixed amount is deposited
every month for a specific
period, earning interest.
RDs are a popular saving
option for salaried
individuals and others with
regular income.



3SSC CGL 2025 | SET - 19KD PUBLICATION Contact us:- 9555108888, 9555208888

vkorh Z  te k (Recurring

Deposit) es a çR;sd ekg ,d
fuf'pr jkf'k tek dh tkrh gS] ftl
ij C;kt feyrk gSA ;g osruHkksxh
yksxksa vkSj fu;fer vk; okys O;fDr;ksa
ds fy, yksdfç; cpr ;kstuk gSA

42. (b) The Eastern Ghats run
from the Mahanadi Valley
in Odisha down to the
Nilgiris in Tamil Nadu,
forming a discontinuous
range along India’s eastern

coast./iwohZ ?kkV vksfM'kk dh
egkunh ?kkVh ls rfeyukMq ds uhyfxfj
rd iQSys gq, gSa vkSj Hkkjr ds iwohZ
rV ds lkFk ,d vlrr ioZr J̀a•yk
cukrs gSaA

43. (a) The Right to life and
personal l iberty is
considered the most
fundamental right because
it forms the basis for all
other rights and freedoms
guaranteed by the
Constitution. Without life
and liberty, other rights
cannot be effectively

exercised./thou vkSj O;fDrxr
Lora=krk ds vf/dkj dks lcls ekSfyd
vf/dkj ekuk tkrk gS D;ksafd ;g
lafo/ku }kjk xkjaVhÑr vU; lHkh
vf/dkjksa vkSj Lora=krkvksa dk vk/kj
curk gSA thou vkSj Lora=krk ds fcuk]
vU; vf/dkjksa dk çHkkoh <ax ls
ç;ksx ugha fd;k tk ldrk gSA

44. (b) Basavanna was a
prominent philosopher,
poet, and social reformer
who played a key role in the
Shiva-focused Bhakti
movement in Karnataka
during the reign of the
Kalyani Chalukya dynasty,
particularly under King
Bijjala II. He was
instrumental in
introducing social reforms
and advocating for social
equality, rejecting caste
and gender discrimina-

tion./cloUuk ,d çeq• nk'kZfud]
dfo vkSj lekt lq/kjd Fks] ftUgksaus
dY;k.kh pkyqD; oa'k ds 'kkludky
ds nkSjku dukZVd esa f'ko&dsafær HkfDr

vkanksyu esa egRoiw.kZ Hkwfedk fuHkkbZ
Fkh] •kldj jktk fcTtyk f}rh; ds
'kkludky esaA mUgksaus lkekftd lqèkkjks
dks 'kq: djus vkSj tkfr vkSj fyax
HksnHkko dks •kfjt djrs gq, lkekftd
lekurk dh odkyr djus esa egRoiw.kZ
Hkwfedk fuHkkbZ Fkh

45. (a) The headquarters of the
Badminton World Federation
(BWF) is located in Kuala
Lumpur, Malaysia . It was
established in 1934 as the
International Badminton
Federation and changed to

BWF in 2006./cSMfeaVu oYMZ
iQsMjs'ku (BWF) dk eq[;ky;
eysf'k;k ds dqvkykyaiqj esa fLFkr gSA
bldh LFkkiuk 1934 esa baVjus'kuy
cSMfeaVu iQsMjs'ku ds :i esa gqbZ Fkh
vkSj 2006 esa bldk uke cnyk x;kA

46. (a) The inaugural World Audio
Visual & Entertainment
Summit (WAVES) 2025 is
organized by Prasar
Bharati, India’s public
service broadcaster.
WAVES 2025 aims to
position India as a global
hub for the media and
entertainment industry,
bringing together industry
leaders, creators, and
innovators from around the
world to discuss
advancements in
animation, gaming,
entertainment technology,

and cinema./çFke fo'o vkWfM;ks
fotqvy vkSj euksjatu f'k•j lEesyu
(WAVES) 2025 dk vk;kstu Hkkjr
ds lkoZtfud lsok çlkjd çlkj Hkkjrh
}kjk fd;k tk jgk gSA WAVES

2025 dk mís'; Hkkjr dks ehfM;k
vkSj euksjatu m|ksx ds fy, ,d
oSf'od dsaæ ds :i esa LFkkfir djuk
gS] ftlesa ,uhes'ku] xsfeax] euksjatu
çkS|ksfxdh vkSj flusek esa çxfr ij
ppkZ djus ds fy, nqfu;k Hkj ds
m|ksx ds usrkvksa] jpukdkjksa vkSj
uoçorZdksa dks ,d lkFk yk;k tk,xk

47. (d) Shashi Tharoor is the head
of India’s multi-party
delegation formed after
Operation Sindoor,

represen-ting the country
in key international
dialogues, specifically for
outreach to countries like

the USA and Brazil./'kf'k
Fk:j vkWijs'ku flanwj ds ckn xfBr
Hkkjr ds cgqnyh; çfrfuf/eaMy ds
çeq• gSa] tks çeq• varjjk"Vªh; laoknksa
esa ns'k dk çfrfuf/Ro djrs gSa] fo'ks"k
:i ls ;w,l, vkSj czkthy tSls ns'kksa
rd igqap ds fy,A

48. (d) Statement I: The unemp-
loyment rate data in India
is released by the Ministry
of Statistics and Programme
Implementation (MoSPI),
not the Ministry of Labour.
MoSPI conducts the
Periodic Labour Force
Survey (PLFS), which
provides estimates of
employment and unem-
ployment indicators.
Statement II: Recent data
indicates a decline in the
unemployment rate.
According to the PLFS,
India’s unemployment rate
for individuals aged 15
years and above stood at
5.1% in April 2025, which
is lower than previous

estimates./dFku I: Hkkjr esa
csjkstxkjh nj ds vkadM+s lkaf[;dh
vkSj dk;ZØe dk;kZUo;u ea=kky;
(MoSPI) }kjk tkjh fd, tkrs gSa] u
fd Je ea=kky; }kjkA MoSPI vkof/
d Je cy loZ s{k.k (PLFS)

vk;ksftr djrk gS] tks jkstxkj vkSj
csjkstxkjh ladsrdksa dk vuqeku çnku
djrk gSA dFku II: gky ds MsVk
csjkstxkjh nj esa fxjkoV dk ladsr
nsrs gSaA PLFS ds vuqlkj] 15 o"kZ
vkSj mlls vf/d vk;q ds O;fDr;ksa
ds fy, Hkkjr dh csjkstxkjh nj vçSy
2025 esa 5-1» Fkh] tks fiNys vuqekuksa
ls de gS

49. (c) In April 2025, the
Maharashtra State Wildlife
Board officially declared the
DPS Flamingo Lake in Navi
Mumbai’s Seawoods area
as a Flamingo Conserva-
tion Reserve. This 30-acre
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wetland serves as a crucial
resting and feeding ground
for migratory flamingos

during high tide./vçSy 2025
esa] egkjk"Vª jkT; oU;tho cksMZ us
vkf/dkfjd rkSj ij uoh eqacbZ ds
lhoqM~l {ks=k esa Mhih,l Ýysfeaxks >hy
dks Ýysfeaxks laj{k.k fjtoZ ?kksf"kr fd;kA
;g 30 ,dM+ dh vkæZHkwfe mPp
Tokj ds nkSjku çoklh Ýysfeaxks ds
fy, ,d egRoiw.kZ foJke vkSj Hkkstu
LFky ds :i esa dk;Z djrh gSA

50. (c) The theme for World
Heritage Day 2025 is
“Heritage under Threat
from Disasters and
Conflicts: Preparedness
and Learning from 60 Years
of ICOMOS Actions.” This
theme emphasizes the
importance of safeguarding
cultural heritage against
the increasing risks posed
by natural disasters and
conflicts, drawing on six
decades of experience in

heritage conservation./fo'o
/jksgj fnol 2025 dk fo"k; gS
"vkinkvksa vkSj la?k"kks± ls •rjs esa
fojklr% ICOMOS dh 60 o"kks±
dh  dkjZokb;ksa ls rS;kjh vkSj lh•A"
;g fo"k; fojklr laj{k.k esa Ng
n'kdksa ds vuqHko dk mi;ksx djrs
gq, çkÑfrd vkinkvksa vkSj la?k"kks± ls
mRiUu c<+rs tksf•eksa ds f•ykiQ
lkaLÑfrd fojklr dh lqj{kk ds egRo
ij tksj nsrk gSA

gSAgS C - QUANTITATIVE APTITUDE
51. (a)Case A:  Numbers ending

with 2
102, 112, .......... 282, 292
[AP with a = 102 & d = 10]
T

n
  =  a + (n –1) d

 292 = 102 + (n –1)×10

 n = 20
Case B:  Numbers beginning

with 2
200, 201,............298, 299

 n = 100
Case C:  Numbers both end &

begin with 2.
202,  212........ 282, 292

  n = 10
   Required number of such

numbers
= (100+20) – 10 = 110

52. (c) a2 + b2 = 4b + 6a – 13

 a2 +b2 – 4b – 6a + 13 = 0

 (a – 2)2 +(b –3)2 = 0

 a = 2 & b = 3

 a + b = 3 + 2 = 5

53. (b)x = 33 – 4 35

  x = 33 – 2×2 × 5 × 7

  x = 28 +5 – 2 × 5 × 28

  x =    
2 2

28 5 – 2 × 5  ×

28

  x =  
2

28 – 5

  x  = 28 – 5

  x = 2 7 – 5
54. (a) The average monthly income

of the family of 5 = ` 10,000

 Monthly income of the family

of 5 = ` 50,000
One person increment in

salary   =  ` 120000/ year

 Monthly increment= ` 10,000

 New monthly salary of family

= ` 50,000 + ` 10,000  =

` 60,000

 New average =
60,000

5
=

`12,000/month

55. (c) M.P. = ` 770
Discount  = 10%

 S.P. = 770 –
770 10

100


= ` 693

Profit = 10%


10

1
100

 
  
 

C.P. = S.P.


110

100
C.P. = ` 693

 C.P. = ` 630

56. (d)sec+tan3.cosec

= sec+tan2.
sin

cos




cosec

= sec+tan2.sec

= sec(1+tan2)

= sec.sec2

= sec3
Now,

tan2=1– e2

 1+ tan2 =sec2 = 2– e2

 sec=  
1

2 22 – e

 sec3 =  
3

2 22 – e

57. (b)
2 2

2 2

a ab b

a ab b

 

 
=

 
 

2

2
3

a b ab

a b ab

 

 

Now,

5 1

5 1
a





 & b = 

5 1

5 1





 ab = 
5 1

5 1




×

5 1

5 1




=1

and, a +b =

5 1

5 1




+

5 1

5 1




=

 2 5 1

5 1





= 
2 6

4


= 3



2 2

2 2

a ab b

a ab b

 

 
= 

 
 

2

2
3

a b ab

a b ab

 

 

=
 

 

2

2

3 1

3 3 1



 
= 

9 1

9 3




=

8

6
=

4

3

58. (b)Let a be the side of cube.
ATQ,

Area of rectangular Sheet =
Surface area of cube

 12 × 8 = 6a2

        16  = a2

   a  = 4cm

 Volume of cube = a3 = (4)3 =
64cm3

59. (d)Let the price of one orange

be ` x.

 Total amount person has  =

` 50x

 Price of one mango = ` 1.25x

 10% of total amount retain
for taxi fare = 10% of 50x = 5x
20 mangoes bought for = 20
×1.25x  = 25x
Money left = 50x – (Taxi fare)–
(Mangoes  cost)
= 50x – 5x – 25x = 20x

    Number of oranges he can

buy = 
20x

x

 = 20
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60. (c) 40% of 70 = 28
30% of 80 = 24
Difference = 28 – 24 = 4

    x = 
4

24
×100 = 16.67

61. (d)Sum of first five numbers =
45×5
= 240
Sum of  last five numbers =
50 × 5
= 250

 Sum of all nine number

= (240+250) – 49 = 441

Required average = 
441

9
= 49

62. (a) (Meeting point)

Station A

50 km/hr
60 km/hr

Station B
M 

Let the
distance between AM = x

  Distance between BM = x +

120
Now,

AM

BM
=

50

60
[As time = constant]

  
120

x

x 
=

5

6

   6x = 5x + 120×5

   x = 600km
    Required distance = 600

+600 + 120
 = 1320

63. (c) Total distance travelled is =
500 + 150
 = 650m

 Speed of train = 
650m

30sec
 =

65

3
 
m

s

 To cross a platform of  370m,

total distance to be travelled
is = 370 + 150
      = 520m

 Required time = 
520m

65

3sec

m
 =

520 ×3

65
sec.

 = 24sec.

64. (a) Put  = 0º in

x cos– sin=1

 x ×1 – 0 =1

 x =1

When = 0º, x =1

Putting = 0º and x = 1 in

x2 + (1+x2) sin=1

+(1+12)sin0º =1

 x2 + (1+x2) sin=1

65. (a) Let the time taken by A to
cover 1 km = x sec.
Time taken by B to cover 1
km
= (x + 25) sec.
Time taken by C to cover 1
km
= (x + 55) sec.

ATQ,
Speed ratio = A : C
= 1000 : 725
= 40 : 29
Time ratio = A : C = 29 : 40


55

x

x 
= 

29

40

 x = 145sec. = 2min & 25sec.

66. (a) Let n be the number of
people in the beginning.
Total work = 8n
Units...........(i)

ATQ,
Total work = n + (n–10) +(n–
20)+...... 12 terms

= n + (n –10)
+(n – 20) +......+(n –110)

=

 –110

2

n n
×12...........(ii)

Equating (i) & (ii)

2 –110

2

n 
  
 

×12 = 8n

  (2n –110) = 
8 2

12


n

 (2n –110) = 
4

3
n

 6n – 330 = 4n

 2n = 330

 n = 165

 Number of men in the
beginning =165

67. (d)ATQ,

R
34041

n

 
  
 

=k& R 
32506

n

 
  
 

k

Difference of the number
34041 and 32506 will be
divisible by n.
In other words, n will be one
of the factors of difference of
34041 and 32506.
Difference = 34041– 32506
= 1535
Prime factor of 1535 = 5 ×
307

 Factor's of 1535 = 1535, 307,

5
 n = 307

68. (d)Total surface area of sphere

= 4 2r

Volume of sphere = 
4

3
3r

ATQ,

2

3

4

4

3

r

r




=

1

7


3

r
=

1

7

 r = 21

Volume of sphere  = 
34

3
r  =

4

3
 × (21)3 =

4

3
×

22

7
×21×21×21 = 38808

Radius of each smaller

sphere = 
21

6

Volume of smaller sphere

=
4

3
r3

= 
4

3
×

22

7
×

21

6
×

21

6
×

21

6

= 4×22×21×21 = 
1

6 6 6 

= 38808 ×
1

6 6 6 
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 Number of sphere =

38808

1
38808

216


=216

 Required surface area =

4

2
21

6

 
  
 

×216

=

4×
22

7
×

21

6
×

21

6
×216

= 33264 sq.units

69. (b)Curved surface area of
cylinder

= 2 rh
Total area its two bases =

2( 2r )

ATQ,

2

2

2

rh

r




=

2

1

   
h

r
=

2

1

Total surface area =
22 r + 2 rh

 = 23100cm2

=23100×
1

1 2
=7700cm2

 22 r  = 7700

 2×
22

7
r2 = 7700

  r2 = 
7700 7

2 22





  r2 = 1225

   r = 35cm

   h = 2r = 70cm

 Required volume = 2r h

  = 
22

7
× 35 × 35 ×70

  = 269500 cm3

70. (b)a3 +b3 = (a +b) (a2 + b2 – ab)
(0.99)3 + (0.98)3 = (0.99 + 0
.98) {(0.99)2 + (0.98)2 – 0.99
× 0.98}

   
    

3 3

2 2

0.99 0.98

0.99 0.98 – 0.99 0.98



 

 
      

    

2 2

2 2

0.99 0.98 0.99 0.98 0.99 0.98

0.99 0.98 – 0.99 0.98

   

 

= 0.99 + 0.98 = 1.97
71. (a) 69% of 730 + 409.3 + 25% of

x = 1923

 (70 –1)% of 730 + 409.3 + 
1

4
x

= 1923


70

100
×730 –

1

100
×730 +

409.3+
4

x
�= 1923

 511 – 7.3 + 409.3 + 
4

x
=1923

 913 + 
4

x
 = 1923


4

x
= 1010

 x = 4040

72. (b)Type –1 Type –2
60 liter Let x liter

` 32/liter ` 23/liter
ATQ,

60 × 32 + 23x = 28 (60 +x)

 23x + 60 × 32 = 28 × 60 +

28x

 60 × 32 – 28 × 60 = 28x –

23x

 60 ×4 = 5x

 x = 12 × 4 liter

 x = 48 liter

73. (b)Cost of 1 liter pure milk = ` x

   Cost of 6 liter pure milk =

` 6x

  Cost of 8 liter milk & water
mixture

= ` 6x

  Cost of 1 liter milk and water

Mixture = `
6

8

x
= `

3

4

x

  S.P. of 1 liter milk and water

mixture = ` 2x
Now,

Profit% = 
2

1
3

4

x

x

 
 
  
  
 

×100

= 
8

1
3

x

x

 
  
 

×100

= 
8 3

3

 
  
 

×100 = 
5

3
×100

=  
2

1
3

 
  
 

×100  = 166.66

74.(d) In ABC

B

M

A
LC

BC2 = AB2 + AC2

In ABL

BL2 = AL2 +
AB2

 BL2 = 

2
AC

2

 
  
 

+AB2

[L midpoint of AC]
 4BL2 = AC2 + 4AB2............(i)

In CMA

CM2 = AC2 +
AM2

 CM2 = AC2 + 

2
AB

2

 
  
 

 [M

midpoint of AB]
 4CM2 = 4AC2 +

AB2............(ii)
Adding eqn.

(i) & eqn.  (ii)
4 (BL2 + CM2) =5 (AC2 + AB2)

 4 (BL2 + CM2) = 5BC2

75. (b)Total work = 12 ×7 = 84units
Work done between (10am
to 1pm)
= 12×3 = 36

 Remaining work = 84 – 36

= 48units
Now,

work done
1 – 2pm                      11 units
2 – 3pm                      10 units
3 – 4pm                      9 units
4 – 5pm                      8 units
5 – 6pm                      7 units

            Total =      45 units
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We need 3 more units to be
done
6 – 7pm......................6
units

  6 – 6:30pm....................3

units

 Required time = 6:30pm

D-ENGLISH COMPREHENSION

76. (b) Graffiti (fH k f Ù k fp= k)
Drawings or writings
scribbled on public walls.

Sketches (:ijs•k) Simple

or rough drawings.

Posters (ik sLVj) Printed

sheets used for display or
advertisement.

Hoardings (foKkiu cksMZ)
Large outdoor
advertisement boards.

77. (b) Exquisite (vfr l q a nj)
means extremely beautiful
or delicate, similar to

Beautiful (lq anj) which

refers to something that is
visually very pleasing.

Crude(vifj"Ñr)  means

raw or unrefined, often
lacking grace or polish.

Ordinary (lk/kj.k) refers to

something common or not
special.

Rough (•qjnqjk)  means

having an uneven or harsh
surface, lacking
smoothness or refinement.

78. (a) “count on” means to rely or
depend on someone or
something.

79. (b) The correct spelling is

Delightfully (vkuaniwoZd)
Other correct spellings are :

Discreetly (lko/kuhiwoZd)
means carefully and
tactfully.

Dreamingly (liuksa esa •ks,
gq,) means in a dreamy

manner.

Destructively (fouk'kdkjh
rjhds ls) means in a way that

causes damage or
destruction.

80. (a) Laconic (la f{kIr) means

using very few words or
being brief and to the point.
Its opposite is Verbose

(cgqr cksyus okyk) , which

means using more words
than necessary or being
wordy.

Succinct (laf{kIr) means

expressed clearly and
briefly.

Terse (laf{kIr vkSj dBksj)
means brief and possibly
rude or abrupt.

Concise (laf{kIr) means

giving a lot of information
clearly and in a few words.

81. (d) Petite (NksVk dn&dkBh dk)
refers to a small and
slender build, especially in
women, similar to Small

(NksVk) which means of little

size or stature.

Flexible (yphyk) refers to

the ability to bend or adapt
easily.

Fit (LoLFk) means being in

good physical condition.

Best (loZJs"B) refers to the

highest quality or most
excellent.

82. (c) Foresight (nwjnf'kZrk) Ability

to anticipate future events.

Prediction (i wo k Z u q e ku)
Statement about a future
event.

Imagination (dYiuk)
Forming mental images or
ideas.

Astrology (T;ksfr"k) Study of

stars to predict events.
83. (d) The correct spelling is

“gentle (dksey) ”, which

means soft or mild in
nature or action.

84. (c) “ABC” refers to something
that is basic or
fundamental, often known
to everyone. It is used to
indicate very simple or
commonly known facts

(cgqr lkekU; tkudkjh).

85. (c) Organized means arranged
systematically and in

proper order (laxfBr).

Tumultuous means noisy

and disorderly (mFky&iqFky
Hkjk).

Disorganised means
lacking order or structure

(vO;ofLFkr).

Hectic means very busy or

full of activity (vfrO;Lr).

86. (c) The subject “She” is
singular, and the correct
verb form is “does”
because it is the singular
form of the verb used with
third-person singular
subjects

87. (a) Impeccable (= k q f Vg hu)
means flawless or perfect in
behavior or appearance. Its

opposite is Faulty (•jkc),

which means having
defects or mistakes.

Spotless (funkZ s"k) means

completely clean or pure.

Perfect (i w . k Z ) means

without any flaws or errors.

Unblemished (funkZs"k) means

free from any mark or flaw.
88. (d) Active Voice Structure:

Subject + Verb (V2) +
Object
Example: Who + taught +
you + English grammar
and composition?
Passive Voice Structure: By
+ Whom + were + Object +
past participle (V3) + Verb?
Example: By whom + were
+ you + taught + English
grammar and composition?

89. (b) The idiom “a New York
minute” refers to a very
brief amount of time,

emphasizing speed (cgqr gh
de le;). It is often used to

describe something that
happens quickly or
instantaneously.

90. (b) The sentence uses the past
tense verb “found,” so the
question tag must also be
in the past tense. The
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correct tag is “didn’t
they?” because the subject
is plural (“police”) and the
auxiliary verb “did”
matches the past tense.

91. (c) Correct order is CBAD.
• C introduces the main

idea: the excessive use of
intoxicants is harmful.

• B explains that it is likely
to injure all parts of the
body.

• A describes the effect on
the drinker, making them
less fit.

• D concludes with the
result that the drinker is
less able to do their work
as a worker and citizen.

92. (a) We were eating dinner,
discussing our plans and
having a good time.
The past continuous tense
structure is was/were +
verb (V1 + ing). Here, “were
eating,” “discussing,” and
“having” correctly show
actions happening
continuously in the past.

93. (a) Correct order is CADB.
• C introduces the event: a

picnic to an amusement
park.

• A tells when they reached
the park.

• D describes the queue and
ticket purchase.

• B explains the first ride
they took and their
reactions.

94. (b) The correct form should be
“collaborating seamlessly”
because “seamlessly” is an
adverb modifying the verb
“collaborating.”

95. (c) No error.
The subject “Young
scientists” is plural, so it
correctly matche the plural
verbs “have” and “are.”
The adjectives “ambitious”
and “highly productive”
correctly describe the
subject “Young scientists”
by telling us their qualities.

96. (b)
97. (b)
98. (c)
99. (b)
100.(c)
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